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rgs 500M | 1000M | 1500M | 7% &
Iz 34 21 34 89
4 (¥ 13 34 13 60
AR 2 21 13 21 55
RAg 8 8 24
il ha 5 5 5 15
SRFREY A
E A+ 500M | 1000M | 1500M | & # 4
mEE(Fe) 34 34 34 102
E;*{*t?(ﬁ] ) 13 21 21 55
Epsr(me) | 2L 8 8 37
B+ EE?) 8 13 13 34
HaLF(R P ) 5 5 5 15

gL 500M | 1000M | 1500M | s 5 4
HAR 2 34 13 34 81
K L 21 34 8 63
kR 13 8 21 42
I HE 5 21 5 31
AR 8 0 13 21
B 42, 3 5 2 10
FaE A 2 3 3 8
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v 500M | 1000M | 1500M | s ¢ 4
wEP(RR) 34 21 34 89
HEFEY) | 21 34 13 68
(R )| 18 5 21 39
IR ACED, 8 13 8 29
EF (R P) 3 8 3 14
428 (R ¥ ) 5 3 5 13
Eair(Re )| 2 2 1 5
2l 73S (R P ) 1 1 2 4
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e 34 34 34 102
B % 21 21 21 63
R 13 13 13 39
PEH-E 8 8 8 24
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ERNE 34 34 34 102
BRI R 21 13 21 55
Fh 43 13 21 13 47
Bl g fetsdFre
F L 300M | 500M | 1000M| s, # 4
1+ 4 13 34 34 81
ENr 34 21 21 76
PR 21 13 13 47
R e 8 8 8 24
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g4 200M | 300M | 500M | % # »
¥ ot 21 34 34 89
e R 34 21 21 76
ER 13 13 13 39
BE = 8 8 8 24
B/ P E%] 3 Fale
g4 300M | 500M | 1000M | i, #
A E 34 34 34 102
513 4 5 21 21 47
5 & 7 21 8 5 34
i RAR 13 5 13 31
3 Pt 8 13 8 29
¥+ 3 3 3 9
£ % 15 2 2 2 6
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g A 300M | 500M | 1000M | s 5 4
LR 21 34 21 76
ML 34 3 34 71
o) L i3 8 21 13 42
5E 5 2 13 13 5 31
ﬂ‘*a =2 ) 8 8 21
A 35 3 5 3 11




